=A| 2
SNU 046.016 AFFE]}8ro] o = M A, 2017 &
713k 5/11(&) 11:00

Exercise 1 [504] “Part II & III, 353 2/=71 &/
AF7HA ool A v AFES 78, ¢agF
= Aw A oF gk

o
off
>
=
i
flo
o

2 A, 283 A A 2
98 g WA 3% + 4% L ek A FuAR AUtk =% AL

2. Wb =7 A, a2 AAstAl | A 29 oy (303)

[ )
[o x
fu lo
FE

It

>,

o2
1

T

)

3

>

~

o

: 2] 2% olu). A= /s /02 AA T K.
2.

ko



Exercise 2 [50% = 5% x10] “Part 1T & I11”

~/

K-

olJ

ou

A 3% 4%

ARZE 2 A 2F o A Hf-SE vR?

J A~
[

o) Al 747

H o
T =

1.

9] 7] 7:“ universal mach'me-?’} Z 5 0] ?1'91 7& ‘%‘H }é 7;“ ﬂ—f}] E‘—Eﬂ}z}‘ﬂ ;‘(]_o] 7§ =

=
o

1,31_

H

=

2. FH H

)

=z

7187

f

A QA A

oh

)
i

2 H]go] Wol

FoX A7 AAY HAE HF

3.

B
J)
Ho

ﬂ
K

)

K
A

5. @A "yAE A

]

o}



o
N
ot
4>
30,
rlr
2
4

L F A dx =

H/\q Al30 (j €l
= (lnt
pret i
allon)-/] £ 5
= 0O E}\ﬂ

[k
u
I
i)
1o
of

8. Z&

Z2IRR7 9 S

4 9e7ter FHa1e A=7t A

| 2o ASYGUnh o
. ‘:Z-Eq
AA S A2
= __"_Z_‘]',(_)_i A m
chloiy
9. A
Aoj S Aol e
19) Wejel FUH = A
S| l’:_. 7H1_ =
£ R
10. =29
e A A ol A
ek MEE
NdES Faushd 2=
mzaan] 7%
EO] 1?51-} 3}
QSRS Z—]\O] 0
HaAdrra?




